Pre HL Unit 1 Exit Slip 2 for More practice Name: Period:

No Calculator!! Box your final answer,
I. Given y = 2x” + 6x — 20

a)} Rewrite in V= a(x— /’1)2 +k form

b) Identify the vertex and=the axis of symmetry,

5. An open square based container is made by cutting 4 cm square pieces out of a piece of tinplate. If the volume of the

container is 120 ¢’ find the size of the original piece of tinplate.

Notes: You must study. Do not expect you will do fine without study. Go over the IB exam style’
exit slips, the review sets for a good preparation of exam.




